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10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry two marks. All questions of Paper-II will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(Tii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Sociology

Paper I1I

HHTSTIMTE
gouteRTt 11

Time Allowed : 75 Minutes]
Note : This Paper contains Fifty (50) multiple choice questions, each question carries
Two (2) marks. Attempt All questions.
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[Maximum Marks : 100
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1. “Our culture is what we are, our

civilization is what we have.” Who

said it ?

(A)
(B)
(C)
(D)
2. Th

Max Weber

Robert Maclver

Auguste Comte

Arnold Toyanbee

is used to

e term f‘status’

designate .........ccccceeeuvreennnns .

(A)

(B)

(®);

(D)

The work of a person as

estimated by a group

The standard of living of a

person

Person holding the designation

in office/work place

The total standing of an

individual in society

“ ST ST STRI AT ST SR, STett
T & STMUcSIaes 31 ol ' 319 o
B A8 ?

(A) Heg I

(B)
(®);

(D)

T HehaTeal
. .
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S ?

(A)

(B)

(®))

(D)

AT D TS
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AT/ hTHEIoR kil it

el g

AT SHekil= ThUE €M
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For whom the study of ‘Social

Statics’ refers to Social structure and

‘Social dynamics’ refers to Social

change ?

(A) Auguste Comte

(B) Herbert Spencer

(C) Robert Maclver

(D) Confucious

An agricultural labourer

becomes an entrepreneur. This

exemplifies ........cccceeecveeeennennn. .

(A) Horizontal mobility

(B) Intergenerational mobility

(C) Vertical mobility

(D) Downward mobility
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Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).
Choose the correct answer from the
codes given below :

Assertion (A) : According to
functionalism, an
understanding of
any part of society
requires an
analysis of its
relationship to
other parts and
its contribution to
the maintenance
of society.

Reason (R) : Functionalism
views society as a
system that is a
set of interrelated
and inter-
dependent parts
which together
form a whole.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanatin
of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
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Who of the following said that
‘stratification is the functional
necessity of society’ ?

(A) Weber and Durkheim
(B) Davis and Moore
(C) Davis and Dahrendorf
(D) Davis and Marx

Which of the following is not an
institution ?

(A) Family

(B) Church

(C) Political Party
(D) Students’ Union

Who has introduced case study
method in social investigation ?

(A) N. Anderson
(B) F. Leplay

(C) J. Gaultung
(D) A. Lundberg

When the questionnaire gives wide
chance to the informant to give his
own answer to the question, it is
called as ......cccvveeeennnennn. .

(A) Closed form

(B) Open ended

(C) Schedule

(D) Unstructured Form
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10.

11.

12.

13.

Empirical research is not associated
with which of the following ?

(A) Non-Participant observation

(B) Collecting data through case
study

(C) Structured interview

(D) Archival data

The simplest form of measure of

dispersion is :

(A) Frequency distribution
(B) Range

(C) Co-relation

(D) Association

The median is :

(A) Size of the middle item
(B) Average of frequencies
(C) Accurate measurement of size
(D) Mid-point of observations
The mean is affected by :
(A) Value of every case

(B) Quartiles

(C) Average

(D) Co-relation

10.

11.

12.

13.
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14. Match the following and choose the

correct answer from the codes given

below :
Thinker
(@) Weber
(b) Ogburn
(¢) Durkheim
(d) Maclver
(e) Abel
Definition of Sociology

(z) Discover principles of cohesion
and order within social

structures
(1) Scientific study of social facts

(t211) Interpretative understanding of

social actions

(v) Learning about society, a
description of ways to make

society better
Codes :

(@ B @ (@
A @ @ @) (o)
B) @) Gv) @ GD)
©C) v G @ @)
D) @) Gv) @) @)
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15. Match the following and choose the

DEC - 14213/11

15. SIS e 3T Wil feoiean Hehdisl-

correct answer from the codes given

below :
Technique
(@) Oral History
(b) Participant observation
(c) Case Study
(d) Content analysis
Features
(z) Unique but generalisable
(i1) Non-literate communities
(zi1) Coding manual
(fv) Participation in community
(v) Identification with community
Codes :
@ ) © (@
(A) G) @) @) (o)
B) @) G @ G

A 3fea wag formn:
GE]
(@ WifEes sfae™
(b) wewrlt fiem
() == F™
(d) RE fageivo
afyre=a

() STTIETHRO 9y ATH=HR 0 Hoa
il

Gi) TReR wqEm™

(iif) Fehdleh YfTeh]
(fv) FHSATA FEH
(v) FHSERT THET
Hehdich :

(@ ®) @ (@
A) @) @) @) (o)

B) @) Gv) @) Gw)

(C) @(v) @)
D) @) @)

@) @)
@v) (@)

(C) (v) @)

D) @) @)

@) @)

@) @)
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16. Match List I with List IT and choose

17.

the correct answer from the codes
given below :

List I
(Methods)
(a) Participant observation
(b) Case study
(¢) Questionnaire
(d) Interview
List II
(Sociologists)
(i) Oscar Lewis

(z1) Goldthorpe and Lockwood
(211)) Thomas and Znaniecki
(tv) Robert Merton

(v) Nels Anderson

Codes :

(@ ) (© (@
A ) @ @) @)
B) Gv) @ @) @)
©C) @ Gv) @) @)
D) ) @) G @

The examination of social artifacts
1s :

(A) Case Study Method

(B) Historical Method

(C) Content Analysis

(D) Non-participant Observation

16. It I HEA 199 dgdl Il

17.
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18.

19.

Identify the method of
presenting frequency distribution
graphically :

(A) Histogram

(B) Cartogram

(C) Multiple bar diagram
(D) Percentage bar diagram

Match the following and choose the
correct answer from the codes given
below :

Groups
(@) In-group
(b)
(c)
(d)

Reference group
Secondary group
Primary group

Characteristics
@)
(i1)
(zii) A model for evaluating one’s
ideas and conduct

(zv) With which individual identifies
himself

(v) Face to face relationship
Codes :

(@ (b)
(A) Gv) @)
(B) i) @)
(C) @) @v)
D) Gv) @)

Impersonal relationship

Involuntary membership

€ ()
@) ()
@ ()
@) (@)
@ ()

18.

19.
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20.

21.

Given below are statements,
Assertion and Reason—Read it and
choose the answer from the given
codes :

Assertion (A) : In exploratory
studies hypothesis
are usually not

formulated

These studies
serve as a basis
for clarifying
concepts and
increasing
familiarity of the
researcher with
the phenomenon
under study.

Reason (R) :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true, but
(R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

An attempt to bring out greater
accuracy which is desired by all the
sciences is called as .......ccco....... .

(A) Validity
(B) Reliability
(C) Scaling
(D) Generality

(B)

20.

21.
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22. In a co-relation if score of Y | 22. wgdawd Siel ' &1’ =i UG dled 310
decreases when X increases it is a7for ‘"= S S ST, T Tl HY
called as .....cccecevvvveeeenieennnnn. . e S ?

(A) No co-relation (A) TEEEYy T
(B) Direct co-relation ..
(B) 99 HeddY
(C) Indirect co-relation o ..
SHUcd&E] Heddy
(D) Inverse co-relation © _ C&T € .

23. Which of the following is not a source (D) 199 Hedsl™
of hypothesis ? 23. WTATATH! HIVAT TEahearal &
(A) Analogies & ?

(B) Findings of other studies (A) |™THE
(C) Statistical analysis (B) SR STt fosmd
(D) Personal experience of (C) FEmTET fages
researcher D) @9 - - -
HRMEenld Hladlid

24. A bank manager has different kinds D) R . 1 .
of relationship with his customers, | 24. T&l &% HTSRE T ATeeh, HEehml,
colleagues, superiors and Res 9 Hi e AT Tohid
subordinates. Which of the following T 3T, Eleiiedeh! vt 93 & fase
terms explains this ? F 2
(A; Mlil’ugle roles (A) =gy f
(B) Role Set .

(B) Yfeht €=
(C) Status Set o) =5 g
g

(D) Role Conflict © .

25. Who among the following has D)
classified the working class into | 25. YTSIARME! WHANTGIA % M=
three different categories as TITRTOT 3TRITE, STH-HI@ d HIA
unskilled, semi-skillgd and 'skill'ed AT HTHTR I AN wETHES
manual workers in capitalist A e = T
society ? '

(A) M. Weber (A) T TR
(B) C. Wright Mills (B) HI. e fAew
(C) V. Pareto (C) =& =
(D) R. Dahrendorf (D) 3. ek
13 [P.T.O.



26.

27.

28.

The class polarization that Marx
predicted as :

(A) The division of each social
class into the more or less
privileged

(B) A growing gap between rich
and poor resulting in class
consciousness

(C) The growth of intermediate

strata in the middle classes

(D) The tendency for the working

class to ‘live and let live’

Who characterized history in terms
of an interminable struggle for
control ?

(A) Marx
(B) Pareto
(C) Weber
(D) Collins

Levi-Strauss’s work has been
organised around three areas.
Which are they ?

(I) Kinship

(II) Mythology

(ITI) Classification of primitives
(IV) Village

Find the correct answer according
to the code given below :

Codes :

(A) (III), (II) and (IV)
(B) (I), (II) and (III)
(C) (D, dI) and (IV)
(D) (II), (III) and (IV)

26.

27.

28.
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29.

30.

31.

Who among the following is not
related with ‘Theories of Cyclical
Social Change’ ?

(A) Spengler
(B) Sorokin

(C) Toyanbee
(D) Marx

According to Dahrendorf interest
groups emerge out of the quasi-
groups under the proper conditions.
Which are they ?

(I) Leadership

(I) Freedom to organize
(IIT) Appropriate ideology
(IV) Social Commitment

Find the correct answer according to
the code given below :

Codes :

(A) (I) and (II)

(B) (I), (IT) and (III)
(C) (II) and (III)
(D) (I) and (III)

Arrange the following stages in
order of appearance in Marx’s
theory. Use the code given
below :

(I) Feudalism

(IT) Primitive communism
(ITT) Ancient/Slavery

(IV) Capitalism

Codes :

(A) (II), (III), (I), (IV)
(B) (D, (IID), (IV), D)
(C) av), (I, dn, dImn
(D) IID, (D), (I, (IV)

29.

30.

31.
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32.

33.

Given below are two statements,
one is labelled as Assertion (A) and
the other is labelled as Reason (R)
and choose the correct answer from
the codes given below :

Assertion (A) : Mead’s view of
human interac-
tion sees indivi-
dual as both acti-
vely creating the
social environ-
ment and being
shaped by it.
Symbolic interac-
tionists argue
that the mean-
ings which oper-
ate in face to face
interactions are
largely the pro-
duct of class rela-
tionships.

Reason (R) :

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation
of (A)

Both (A) and (R) are correct but
(R) 1is mnot the correct
explanation of (A)

(B)

©)
(D) (A) is wrong but (R) is correct

According to Marx which of the
following factors is determinant of
structure and change ?

(A) Cultural
(B) Political
(C) Ideological
(D) Economic

(A) is correct but (R) is wrong

32.

33.

DEC - 14213/11

et Tk faem (A) 1for gE=are &R
(R) 18 Feliged 3R 3fur wedt feetesn
Gehdleh A 3Ifed gafg faer -

gfques A) : 7 1 9 a7
AR ferafawei=n Hre=
TEIRIATLENR T
HI‘-IlrWI°h l‘I"»iqu{“'ll":{'\l

FHarererau FHHS X 9
A gfaa & 2

PRIEARCCE IGRE DI CI
foemaa s@ ygfaurea
HILATT, B FHITTHIT
AT SATAw AT
freom a1d ® geae @
T A GaEre gy
ST

&Rl (R)

PR
(A) (A) F (R) SI=l R 3ffed, T
(R) T (A) & 3T TIRIHI T

(B) (A) g (R) Sr=l R 3Ted, T
(R) T (A) o 3Tk TR0 TG

(o)) ﬁé%’aﬁmaﬁa’,uﬁ (R) 8 I%

(D) ﬁé%%aﬁ,q@ (R) & s

ATeFd =l HAT{aR  @ITelieTdsh]  hIoTd
ek HLEAT ST gREdar=n Ui
e ?

(A) HiEhdih
(B) TSifRa
(C) foamyumeige

(D) efien

16
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34. Who formulated the middle range | 34. wer(y foga won ufqufed e
theory ? e ?

(B) T. Parsons (B) . wE=

(C) R. Merton o ’ s

(D) M. Weber ©) =

35. Who attempt to link Sociology, Social D) T IR ~

Anthropology and Psychology in a | 35. WHISRIEA, HHIS HITARIE afor

single frame of reference ? O 1 fIsi wehre deyf Aiehdia

(A) Radcliffe Brown SOOI FI HITH hetell AR ?

(B) Malinowski (A) s 9

(C) Merton (B) HefHiegeeht

36 gﬂ?ébltjra(iieelﬂned a ‘class situation’ © 1:|é;
as (D)

(A) The exploitation of the working | 36. aa—{ﬁ \\‘Tﬁ? qﬁﬁ%ﬁ\ﬁ’ \?I:[ caTEdl
class by their capitalist GefteTien! HIOAT GhR hell 38 ?
employer (A) VTSI HIcTh ST

(B) A person’s position in the Helel INu
capital, product and labour B) T R
markets based on his economic (B) Q@ =4I Teeel, 3cIed 9
FESOUTCes STHSTSR FTcilet T, S el 37fefeh

(C) A social group’s consciousness of e ST ST
its status and life chances (C) U@ gHifsie Hl—g&ld’] =T &S

(D) The life style of a social class, ERSIERINNE CIEERIRSIIE]
as defined by pattern of (D) TETEN HrHTSTeh ST SterRret|—sit
consumption IR SEHEET W

37. Considering R.K. Merton’s concept 37 I G gEe THEEE ST

of latent function, which of the . .

following pairs is not correctly AT Bl BetTeTdeh! HIORT SISt GaTd

matched ? T ?

(A) Punishment — Cohesion (A) foreqm — Tl

(B) Religion —  Social (B) ud — s

integration 'Qa;l?;ﬁw

(C) Law —  Social (C) FFT e

Control =

(D) Conspicuous consumption — . .
Enhancing one’s status in the (D) i h“ \l 9 — ¥ “.
eyes of the others RIBIVIGH A= Sl A0l

17 [P.T.O.



38.

39.

40.

41.

Who among the following has
formulated the concept of ‘Cultural
lag’ ?

(A) Ogburn

(B) Weber

(C) Radcliffe Brown

(D) Sorokin

‘Khaap Panchayat’ is against which

kind of marriage ?
(A) Monogamy
(B) Endogamy
(C) Hypogamy
(D) Polygamy

Different associated

with a single individual are known

statuses

: 1T .
(A) Status succession
(B) Status sequence

(C) Status inconsistency
(D) Status set

Who viewed himself as a cultural

determinist ?

(A) Merton

(B) Radcliffe Brown
(C) Levi-Strauss
(D) Parsons

38.

39.

40.

41.

DEC - 14213/11

‘giepfas gvEEA’ &€ WHeudn
Telictieh! vl Hieet ?

(A) e

(B) &R

(C) YSfrT® o

(D) HHfRT

©MT J9Ed Il G foamer=a
foriel a8 ?

(A) THiqaE

(B) 3dfefare

(C) gfdeim foeme

(D) wgfoate

TehTe I STATTes Tof Siogl Heiferd
A degl & R sliaEd Sd ?
(A) &S o

(B) &<l 31qhH

(C) <t forgrdt

(D) <= G

@Al |ipias Ui ®I[A &I
BEIECIGE

(A) H&

(B) TESfRT® o

(C) a=-&rE

(D) wrEH=|

18
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42. ‘Interaction is in between actors and | 492. ‘s & Teh-TTHEIA T Kl
not in the factors.” Who said it ? FA-FAELA AR’ 3T HIUT Bl
(A) Mead e ?
(B) Pareto (A) s
(C) Blumer (B) W
(D) Parsons (C) =T
43. The hierarchical arrangement of (D) =
the systems is clear in Parsons’ | 43. S0 =AcH: A=l HISUl ==
social system. Arrange the TSR eI Tsequ h{0ATT ATl
following in which they appeared in 3Te. 1 TagMa e Aearar =
his theory : HHAR AU &Y
(I) Behavioural system (I) Sd-TcHeh e
(IT) Social system (II) FHST FoqEdn
(III) Personality system (IIT) AfRTH e
(IV) Cultural system (IV) GI&hfaer e
Choose the correct answer from the arett feoie dahdiehyd 3fea v
codes given below : e
Codes : Hehdloh :
(A) (IV), (IID), (II), (D) (A) (IV), IID), (II), (D)
(B) (D), (IID), (IV), (I) (B) (ID), (IID), aOV), (I)
(C) av), (aDn, dIm, (I) (C) (IV), (ID), (11D, (D)
D) (D), (ID), Av), dD D) (D, dID, AV), (II)
44. According to Kurzweil who is the | 44. H3ad I=H AR FEAHHAR
father of structuralism ? SEk IV AR ?
(A) Radcliffe Brown (A) (ElRTE ST
(B) Levi-Strauss (B) wi=i-&i|
(C) Malinowski (C) HeflHregeent
(D) Parsons (D) TrEH
19 [P.T.O.



45.

46.

Mead identified four basic and
interrelated stages in the act.
Arrange the order in which they
appeared and choose the correct

answer from the codes :
(I) Impulse

(II) Perception

(IIT) Manipulation

(IV) Consummation
Codes :

A) (D, dID, AV), D
(B) D), (D, III), (IV)
(C) {ID, (D, av), dI)
(D) (D), D, D), (IV)

Who among the following considers
concensus and conflict as two

different sides of the same coin ?
(A) Parsons

(B) Merton

(C) Mills

(D) Dahrendorf

45.

46.

DEC - 14213/11
e It forameie =R Jeryd ST Tem
Geiferd o ew fEfR Sl s g

T R LTI 3T 3ATed A= SHI LI

arev foeiean Hehdard et
() TImpulse

(IT) Perception

(IIT) Manipulation

(IV) Consummation

Hehd

A) (D, (IID, AV), (II)

(B) (D, (D, (III), (IV)

(C) {ID, (D, av), dI)

(D) (D), dD, (D), (IV)

T ST SoS WehTd ATUAT=AT SF dTs].
e, 3T Welietdeh! shivrea foemadii
qiftaer ?

(A) wEH

(B) WA

(C) THew

(D) CELEh

20
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47. Match the following by selecting the | 47. Wl fSeiean HehdiwmeA 3TgH S

correct answer from the codes given o &d @elld el Jeodl -
below : a1
(LBljzkI) (sish)
(@) Crime and Custom in Savage (@ W e ch{dH. T e He
Society b) T M maeed
(b) The Andaman Islanders ) & 9= "Es
(c) The Savage Mind (@) fg fusilt =h dFTa FR
(d) The Theory of Social Structure B 0 I |
List II (FrE)
(Author) G) . ?l%:r—'{?j'{:[
(1) C. Levi-Strauss Gi) o wferaen
@) B. Malinowski (iii) T3 (SfRI% F
(zi1) A.R. Radcliffe Brown (iv) SH. T
(iv) R.K. Merton ©) TWIE T
(v) S.F. Nadel T
Codes :

(@ b)) () (@
(A) G) G @ (@)
B) ) @) Gv) @)
(C) @) @) @) o)
D) Gv) G @ G
48. HETATHE YIrad®l &I AfyTSey

@ ®) © (@
A) @) @) @ ()
B) @ @) G @
©) @ @ @) ()
D) @) @) @ G

48. An association is characterised

by : Iqd ?

(A) Customs A) &
(B) Folkways (B) TlhTER
(C) Norms (C) T
(D) Usage (D) ==

21 [P.T.O.



49.

50.

Match the following by selecting the
correct answer from the codes given
below :

List I
(Concepts)
(@) Functional Prerequisites
(b) Net Balance of functional
consequences
(¢) Universal functionalism
(d) Structuralism
List II
(Scholar)
(i) R.K. Merton

(z1) B. Malinowski

(zi1) C. Levi-Strauss

(tv) T. Parsons

(v) A.R. Radcliffe Brown

Codes :

(@ ®) (@ ()
A @ @) @ Go)
B) Gv) @) @) @)
(C) Gv) @ @) @)
D) @ G @ O

Who among the following is usually
regarded as the major figure in the
development of symbolic
interactionism ?

(A) Herbert Blumer
(B) George Herbert Mead
(C) Margaret Mead
(D) William James

49.

50.

DEC - 14213/11

Erell feeiedn FehdhmEd 379 U]
e & @ielld Siiedl Joodl :

R |
()
(@) TS FaTaIIHR
(b) HEHS RO e Hger
(¢) WEF® YHEAR
(d) HEAER
R | |
(feemea)
() SRSH. WA
(i) ot Hfemagpt
(i) G wforerg
(v) 3. TEHT
(v) TAR. EFTE A
Hehdieh :
(@) (b)
A @ @)
(B) @) @
C) @) & @) @)
D) @) Gv) W @
gfdehTcHeh  STTARIshaTaer= fashrdTdial
T HeRil FEU[ TR0 Seierdeh!
IO 3TesEel a2
(A) T =W
(B) SISl geld e
(C) wrie fae
(D) faferam S

(c)
(v)
(v)

(d)
(iv)
(773)

22
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ROUGH WORK
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ROUGH WORK
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